5.1 Maxima and dMirima

suggests that the singular point oceurs at exactly x = 1. In fact, we can calculate

)y = oy —x

3(x — 1y
From this formula we see clearly that f'(x) is defined everywhere except at x
Endpoints The only endpoint in the domain ig x == -2, which gives a relative minin

Thus, we have found the following approximate extrema for £
A relative (endpoint) minimum at (-2, 0.08}

An absolute (stattonaryy maximum at (-0.37, 1.19)
A relative (singular) mintmum at {1, —6.5)

A relative (stationary) maximum at (1,18, -0.38)

dencies basic skills exarcises

£y indicates exercises that sho

id be solved using technaology

Fn Exereises T-12, tocate and classifv all extrema in cach graph.
ving the extrema, we mean listing whether vach extremum
is a relative or absolute maximum oy mintmum, ) Also, locare any
stafionary points or stngular points that are not relazive extreme.
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D A Find the exact location of all the velutive and absolute extrer
: E R ’ of each fimction in Exercises {3-44.
1 i e w. . .
- T 13.% f{x) = x° —4x + | withdomain [0, 3]/
— X o . .
N L 14. % f(x}y = 2x% — 2x + 3 with domain [0, 3]

. 13, % glx) = 00— 12x with domain [-4, 4]

5@ 6. & ¥ 16. % g(x) = 2x% — 6x + 3 with domain [-2, 2]

S 3 o 17, % F(ry = 1 + 1 with domain i-2, 2]

18, @ /(1) = ~2¢% ~ 31 with domain -1, 1]

19,5 h(6) = 2% + 32 with domain [—2, +00)
{zee Example 7]

20, &80 = 2 - 3t with domain [ 1, +00)
218 fix) = 3% ~ 4x with domain [ 1, +20)

228 fix) = 3x* = 2x° with domain [—1, +0¢)

: i 2. 1 :
Womalsy = £ = =57 4 =17 with domain { —o0, +00)
iy ’ 4 3 2

24, % g{ry = 3% — 1667 + 248 + 1 with domain (—o¢, +x

28, @ A(x) = (x — L)% with domain 0, 27 #in
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